Problem 2.46

Given the circuit shown:

a) Find the required value of 
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b) Use Table 2.1 to select a standard 10% tolerance resistor for 
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c) Calculate the actual value of 
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d) Determine the percent error between the actual value of 
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 and that shown in the circuit.

e) Determine the power rating for the resistor 
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.

[image: image1.wmf]R


Suggested Solution

a) From KCL, the current in the 
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 resistor is 
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.  From Ohm’s Law, the voltage across the circuit is 
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.  Therefore, the required value of R is 
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b) From Table 2.1, the nearest 10% resistor value is 
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c) To find the actual value of I, first find the actual voltage across the circuit, which is 
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.  Then, 
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d) The percent error is 
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e) Since the power consumption in R is 
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, a 
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 resistor should be used.
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